Maths- Ordering Numbers
Choose Set A, B or C to order and compare numbers beyond 1000. 
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TARGET To order and compare numbers beyond 1000.
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Jiang and Adam work together.

Jiang has a number. He writes down 34 700 and says that
this s the result when his number is rounded to the nearest
10. What is the largest possible number that Jiang could
have chosen?

Adam has a number. He writes down 580 000 and says that
this s the result when his number is rounded to the nearest
100. What is the smallest possible number that Adam could
have chosen?

Work with a partner and set each other similar challenges.
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Adam uses a standard.dice. He roll the dice 5 times to

create a S-digit number. He rounds the number to the
nearest 1000.

He repeats this 30 times and finds
that more of the numbers round
down than round up. He expected.
half of the numbers to round up
and half to round down.

Can you help Adam explain why.
this is the case?





